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Write short notes on:-

a)
b)
c)
d)

a)

b)

a)

Why kernel based design is preferred?

What are critical sections?

Can we implement counting semaphores using multiple binary semaphores?

Can we have larger logical address Space than physical address space?

List different types of CPU scheduling algorithms.

What are main limitations of contiguous memory allocation?

What is thrashing?

What are boot blocks?

What is the need of swap space?

List any two LINUX based OS. (10x1)

UNIT -1

Describe the purpose of an operating system. Differentiate between batch systems,
multi-programmed, multitasking and multi-processing systems.

Explain the process state transition diagram. What is the main information
contained in the process control block? (5,5)

Assume the following set of processes, their burst time, arrival time and priority
(1 is highest)

Processes Burst Time Arrival Time Priority
PI o - :
P2 40 5 3
= 25 10 1
P4 20 = :
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using Gantt charts.
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pages are dirty, what is the effective access time. Assume that system g Funnp,
only a single process and CPU is idle during page swaps. 3

b) What is Demand Paging? How the performance of demand paging is measuregs
¢) Whatis LRU page replacement? (532
UNIT-1I
V.

a) Explain the structure of file control block? Describe the indexed disk space allocatigy
method.

b) What are the virtual file systems? Explain the file structure and various free Space
management techniques.

(5.5)
VI

a) Explain the different disk management techniques such as formatting, boot block and
bad block management.

b) What are the different conditions for deadlock to occur? How Deadlock avoidance is

different from prevention and detection. Explain the Banker's algorithm with the help
of an example.

(4,6)
VII. . a) Show that it is possible for processes to complete

_ for their execution without entering a
deadlock even if system is in unsafe state.

b) Describe the Memory management in LINUX? Describe the use of lo
space.
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